QUESTION PAPER
Assistant Storekeeper [SHIFT - 1]

Exam Date : 29/02/2024
Time : 10:00 AM - 12:00 PM

Subjective questions

Question 1

Question Id : 1
Which of the following is a primary responsibility of an Assistant Store Keeper in a government hospital?
Answer :

(A) Conducting medical procedures

(B) Managing patient records

(C) Monitoring inventory and supplies

(D) Administering medications

Right Answer :
Monitoring inventory and supplies

Question 2

Question Id : 28
Which software tool is commonly used for maintaining electronic inventory records in a hospital?
Answer :

(A) Photoshop

(B) Microsoft Word

(C) Excel

(D) PowerPoint

Right Answer :
Excel

Question 3

Question Id : 29
What does the term "First-In-First-Out" (FIFO) mean in the context of inventory management?

Answer :

(A) Items are arranged alphabetically

(B) Newest items are used first

(C) Oldest items are used first

Option Id

1001

1002

1003

1004

Right Option Id : 1003

Option Id

28001

28002

28003

28004

Right Option Id : 28003

Option Id

29001

29002

29003



(D) Items are randomly selected

Right Answer :
Oldest items are used first

Question 4

Question Id : 30

What is the purpose of the Material Safety Data Sheet (MSDS) in a hospital storeroom?

Answer :

(A) Patient health records

(B) Employee job descriptions

(C) Information on hazardous materials

(D) Marketing strategies

Right Answer :
Information on hazardous materials

Question 5

Question Id : 31

Which of the following is a key component of a well-organized hospital storeroom?

Answer :

(A) Clutter and disarray

(B) Frequent stockouts

(C) Proper shelving and labeling

(D) Limited accessibility

Right Answer :
Proper shelving and labeling

Question 6

FSND analysis stands for?
Answer :

(A) Fast, Slow, Non-moving, Dead items

(B) Few, Slow, Normal, Desirable items

(C) Few, Scares, Not required, Desirable items

Question Id : 32

29004

Right Option Id : 29003

Option Id

30001

30002

30003

30004

Right Option Id : 30003

Option Id

31001

31002

31003

31004

Right Option Id : 31003

Option Id

32001

32002

32003



(D) Fast, Slow, New, Dead items

Right Answer :
Fast, Slow, Non-moving, Dead items

Question 7

Which of the following is a key consideration when storing pharmaceuticals in a hospital storeroom?

Answer :

(A) Exposure to direct sunlight

(B) Frequent temperature fluctuations

(C) Unrestricted access by hospital staff

(D) Placing items at random

Right Answer :
Exposure to direct sunlight

Question 8

Question Id : 33

Question Id : 34

What does the term "shelf life" refer to in the context of hospital inventory management?

Answer :

(A) The life of the storage shelf

(B) The lifespan of a medical product

(C) The time spent on inventory documentation

(D) The frequency of shelf restocking

Right Answer :
The lifespan of a medical product

Question 9

Which one of the following is NOT a Technique of Inventory control?
Answer :

(A) ABC analysis

(B) FSND analysis

(C) GOLF analysis

(D) FTMN analysis

Question Id : 35

32004

Right Option Id : 32001

Option Id

33001

33002

33003

33004

Right Option Id : 33001

Option Id

34001

34002

34003

34004

Right Option Id : 34002

Option Id

35001

35002

35003



Right Answer :
FTMN analysis

Question 10

GOLF analysis in inventory control stands for?
Answer :

(A) Goods, Obsolete, Lost, Found items

(B) Government, Ordinary, Local, Foreign items

(C) Goods Of Lost Finances

(D) Grants Of Local Furniture

Right Answer :
Government, Ordinary, Local, Foreign items

Question 11

HML analysis in inventory control stands for?
Answer :

(A) High and Medium Local stock

(B) Highest, Medium, Low-cost items

(C) High, Minus, Low Temperature

(D) Human-Machine-Language Control

Right Answer :
Highest, Medium, Low-cost items

Question 12

In the context of supply chain management, what does the term "lead time" refer to for a storekeeper?

Answer :

(A) The time it takes to count inventory manually

(B) The time it takes for a customer to make a purchase

(C) The time it takes for a supplier to deliver ordered goods

(D) The time it takes to restock shelves

Question Id : 36

Question Id : 37

Question Id : 38

35004

Right Option Id : 35004

Option Id

36001

36002

36003

36004

Right Option Id : 36002

Option Id

37001

37002

37003

37004

Right Option Id : 37002

Option Id

38001

38002

38003



38004

Right Answer :
The time it takes for a supplier to deliver ordered goods
Right Option Id : 38003

Question 13
Question Id : 39

Why is it important for a storekeeper to conduct regular audits of records and documentation?

Answer :
Option Id

(A) To avoid transparency in operations

39001
(B) To discourage employee development

39002
(C) To identify and rectify discrepancies or errors

39003
(D) To expedite the reconciliation process

39004

Right Answer :
To identify and rectify discrepancies or errors

Right Option Id : 39003

Question 14

Question Id : 40
Which regulatory agency oversees the safety and efficacy of drugs in many countries, including the United States?

Answer :
Option Id

(A) FDA (Food and Drug Administration)

40001
(B) WHO (World Health Organization)

40002
(C) CDC (Centers for Disease Control and Prevention)

40003
(D) EPA (Environmental Protection Agency)

40004

Right Answer :
FDA (Food and Drug Administration)

Right Option Id : 40001

Question 15

Question Id : 41
SDE analysis in inventory control stands for ?

Answer :
Option Id

(A) Scarce, Difficult, Easily available items.

41001
(B) Stock-out, Damaged, End-product items

41002
(C) Stocking of Durable and Efficient items

41003

(D) Superior, Durable, Efficient items



Right Answer :
Scarce, Difficult, Easily available items.

Question 16

Question Id : 42

What is the role of an Assistant Store Keeper in the event of a product recall?

Answer :

(A) Ignore the recall

(B) Inform customers only

(C) Collaborate with regulatory authorities and recall affected products

(D) Wait for instructions from the manufacturer

Right Answer :
Collaborate with regulatory authorities and recall affected products

Question 17

FSND analysis is based on which of the followings?
Answer :

(A) On the basis of ascending order of the usage items

(B) On the basis of descending order of the usage items

(C) On the basis of Dead items

(D) On the basis of availability of the items

Right Answer :
On the basis of descending order of the usage items

Question 18

What is the primary objective of GeM in India?
Answer :

(A) Promoting private businesses

(B) Enhancing international trade

(C) Simplifying government procurement

(D) Managing environmental resources

Question Id : 43

Question Id : 44

41004

Right Option Id : 41001

Option Id

42001

42002

42003

42004

Right Option Id : 42003

Option Id

43001

43002

43003

43004

Right Option Id : 43002

Option Id

44001

44002

44003



Right Answer :
Simplifying government procurement

Question 19

How does GeM contribute to transparency in government procurement?

Answer :

(A) By hiding procurement details

(B) By allowing offline transactions

(C) By providing real-time tracking and monitoring

(D) By limiting seller visibility

Right Answer :
By providing real-time tracking and monitoring

Question 20

What is the primary goal of inventory management?
Answer :

(A) Maximize storage space

(B) Minimize ordering costs

(C) Maximize holding costs

(D) Maximize order quantities

Right Answer :
Minimize ordering costs

Question 21

Why is regular inspection of stock important in a hospital store?
Answer :

(A) To increase storage capacity

(B) To identify expired or damaged items

(C) To showcase the available inventory

(D) To speed up the billing process

Question Id : 45

Question Id : 46

Question Id : 47

44004

Right Option Id : 44003

Option Id

45001

45002

45003

45004

Right Option Id : 45003

Option Id

46001

46002

46003

46004

Right Option Id : 46002

Option Id

47001

47002

47003



Right Answer :
To identify expired or damaged items

Question 22

Question Id : 48

What role does a bin card play in the stock inspection process in a hospital store?

Answer :

(A) It tracks the movement of patients

(B) It records the stock levels in real-time

(C) It is used for advertising promotions

(D) It monitors employee attendance

Right Answer :
It records the stock levels in real-time

Question 23

Question Id : 27

How can technology be utilized for efficient stock inspection in a hospital store?

Answer :

(A) By relying solely on manual counts

(B) By implementing barcode or RFID systems

(C) By avoiding digital tools

(D) By using handwritten inventory logs

Right Answer :
By implementing barcode or RFID systems

Question 24

What does VED stand for in inventory management?
Answer :

(A) Variable, Essential, Desirable

(B) Vital, Economic, Desirable

(C) Vital, Essential, Durable

(D) Vital, Essential, Desirable

Question Id : 25

47004

Dicmhidt Nunitiaw ld . A70ND

Option Id

48001

48002

48003

48004

Right Option Id : 48002

Option Id

27001

27002

27003

27004

Right Option Id : 27002

Option Id

25001

25002

25003

25004



Right Answer :
Vital, Essential, Desirable

Question 25

Which document often outlines the procurement policies and procedures in government manuals?

Answer :

(A) Record Manual

(B) Procurement manual

(C) Product Manual

(D) Account Manual

Right Answer :
Procurement manual

Question 26

What does MSME stand for?
Answer :

(A) Massive Scale Manufacturing Enterprises

(B) Micro, Small, and Medium Enterprises

(C) Market Share Management Entities

(D) Modern Systematic Management Entities

Right Answer :
Micro, Small, and Medium Enterprises

Question 27

What does AMC stand for in the context of maintenance services?

Answer :

(A) Annual Management Contract

(B) Asset Management Checklist

(C) Annual Maintenance Contract

(D) Advanced Machine Calibration

Question Id : 2

Question Id : 24

Questionid : 3

Right Option Id : 25004

Option Id

2001

2002

2003

2004

Right Option Id : 2002

Option Id

24001

24002

24003

24004

Right Option Id : 24002

Option Id

3001

3002

3003

3004



Right Answer :
Annual Maintenance Contract

Question 28

What is the purpose of the 'Find and Replace' feature in Microsoft Word?
Answer :

(A) To change the font style

(B) To search for specific words or phrases and replace them with others

(C) To insert hyperlinks

(D) To format page layout

Right Answer :
To search for specific words or phrases and replace them with others

Question 29

In Microsoft Excel, what function is used to sum a range of cells?
Answer :

(A) =average()

(B) =total()

(C) =sum()

(D) =range()

Right Answer :
=sum()

Question 30

SDE analysis in Inventory is based on which of the followings?
Answer :

(A) Durability of items

(B) Scarcity in Availability

(C) Movement of the items

(D) Damaged items

Question Id : 4

QuestionId : 5

QuestionId : 6

Right Option Id : 3003

Option Id

4001

4002

4003

4004

Right Option Id : 4002

Option Id

5001

5002

5003

5004

Right Option Id : 5003

Option Id

6001

6002

6003

6004



Right Answer :
Scarcity in Availability

Question 31

HML analysis in Inventory is based on which of the followings ?
Answer :

(A) On the basis of Drug temperature

(B) On the basis of strength

(C) On the basis of language of the computer

(D) On the basis of cost-per items

Right Answer :
On the basis of cost-per items

Question 32

Inventory audit procedures include which of the followings?
Answer :

(A) ABC inventory analysis

(B) Inventory cycle count

(C) Freight Cost analysis

(D) All of the given options

Right Answer :
All of the given options

Question 33

What is batch processing in the context of inventory management?
Answer :

(A) Processing orders individually as they are received

(B) Handling multiple orders together as a group or batch

(C) Maximizing lead time

(D) All of the given options

Questionid : 7

Question Id : 8

Question Id : 9

Right Option Id : 6002

Option Id

7001

7002

7003

7004

Right Option Id : 7004

Option Id

8001

8002

8003

8004

Right Option Id : 8004

Option Id

9001

9002

9003

9004



Right Answer :
Handling multiple orders together as a group or batch

Question 34

How does an increase in carrying costs affect the overall cost of inventory?

Answer :

(A) Decreases the total inventory cost

(B) Has no effect on the total inventory cost

(C) Increases the total inventory cost

(D) Eliminates the need for inventory management

Right Answer :
Increases the total inventory cost

Question 35

BEA stands for which of the following ?
Answer :

(A) Bureau of Economic Analysis

(B) Break Even Analysis

(C) Break efficient analysis

(D) Break Economic Analysis

Right Answer :
Break Even Analysis

Question 36

What does the reorder level represent in inventory management?
Answer :

(A) The maximum stock level

(B) The minimum stock level

(C) The optimal order quantity

(D) The inventory level at which a new order should be placed

QuestionIid : 10

Question Id : 11

QuestionId : 12

Right Option Id : 9002

Option Id

10001

10002

10003

10004

Right Option Id : 10003

Option Id

11001

11002

11003

11004

Right Option Id : 11002

Option Id

12001

12002

12003

12004



Right Answer :
The inventory level at which a new order should be placed

Question 37

Question Id :

GOLF analysis is based on which of the following?
Answer :

(A) On the basis of condition of the item

(B) On the basis of quality

(C) On the basis budget alloted by Government

(D) On the basis of material

Right Answer :
On the basis of material

Question 38

Question Id :

What is the primary purpose of demand forecasting in Inventory management?
Answer :

(A) To increase holding costs

(B) To determine the optimal order quantity

(C) To predict future demand for products or services

(D) To minimize lead time

Right Answer :
To predict future demand for products or services

Question 39

Question Id :

Which department typically provides the initial request for medical supplies in a hospital?
Answer :

(A) Housekeeping

(B) Maintenance

(C) Nursing

(D) Marketing

13

14

15

Right Option Id : 12004

Option Id

13001

13002

13003

13004

Right Option Id : 13004

Option Id

14001

14002

14003

14004

Right Option Id : 14003

Option Id

15001

15002

15003

15004



Right Answer :
Nursing

Question 40

Question Id : 16
What is the function of RAM in a computer?

Answer :

(A) Long-term storage of data

(B) Temporary storage of data and programs currently in use

(C) Displaying output on the screen

(D) Running the operating system

Right Answer :
Temporary storage of data and programs currently in use

Question 41

Question Id : 17
Which of the following is a common web browser?

Answer :

(A) Java

(B) Firefox

(C) Excel

(D) Photoshop

Right Answer :
Firefox

Question 42

Question Id : 18
Which feature in Windows allows you to organize running applications on the taskbar?

Answer :

(A) Control Panel

(B) Task Manager

(C) File Explorer

(D) Taskbar grouping

Right Option Id : 15003

Option Id

16001

16002

16003

16004

Right Option Id : 16002

Option Id

17001

17002

17003

17004

Right Option Id : 17002

Option Id

18001

18002

18003

18004



Right Answer :
Taskbar grouping

Question 43

What is the purpose of the two-bin system in inventory control?
Answer :

(A) Minimize holding costs

(B) Facilitate just-in-time inventory practices

(C) Simplify order processing

(D) Manage different classes of items

Right Answer :
Facilitate just-in-time inventory practices

Question 44

Why is quality control important in pharmacy stores?
Answer :

(A) To maximize profits

(B) To ensure compliance with marketing regulations

(C) To maintain the safety and efficacy of pharmaceutical products

(D) To expedite the dispensing process

Right Answer :
To maintain the safety and efficacy of pharmaceutical products

Question 45

What does the term "stockout" mean in the context of inventory control?

Answer :

(A) Excess inventory

(B) Running out of stock

(C) Safety stock level

(D) Reorder point

Question Id : 19

Question Id : 20

Question Id : 21

Right Option Id : 18004

Option Id

19001

19002

19003

19004

Right Option Id : 19002

Option Id

20001

20002

20003

20004

Right Option Id : 20003

Option Id

21001

21002

21003

21004



Right Answer :
Running out of stock

Question 46

In the context of material management, what does ABC analysis prioritize?
Answer :

(A) Order frequency

(B) Holding costs

(C) Items based on their importance and value

(D) Safety stock levels

Right Answer :
Items based on their importance and value

Question 47

Question Id : 22

Question Id : 23

How can an Assistant Store Keeper contribute to cost-saving measures in the hospital?

Answer :

(A) Ordering excessive supplies

(B) Minimizing waste

(C) Ignoring expiration dates

(D) Using premium suppliers

Right Answer :
Minimizing waste

Question 48

What is the purpose of FIFO in drug inventory management?
Answer :

(A) First In, First Out

(B) Fast In, Fast Out

(C) First In, Fast Out

(D) Fast In, First Out

Question Id : 49

Right Option Id : 21002

Option Id

22001

22002

22003

22004

Right Option Id : 22003

Option Id

23001

23002

23003

23004

Right Option Id : 23002

Option Id

49001

49002

49003

49004



Right Answer :
First In, First Out

Question 49

Question Id : 26
What is the significance of a Certificate of Analysis (CoA) for drugs?
Answer :

(A) Marketing information

(B) Proof of purchase

(C) Assurance of product quality

(D) Customer testimonials

Right Answer :
Assurance of product quality

Question 50

Question Id : 50
What is the purpose of a Service Level Agreement (SLA) in goods and equipment procurement?
Answer :

(A) To maximize order quantities

(B) To outline the terms and conditions of the procurement contract

(C) To minimize lead time

(D) To disregard supplier performance

Right Answer :
To outline the terms and conditions of the procurement contract

Question 51

Question Id : 51
Which entities can register as buyers on GeM ?

Answer :

(A) Only government departments

(B) Only private companies

(C) Only foreign organizations

(D) Both government and private organizations

Right Answer :
Both government and private organizations

Right Option Id : 49001

Option Id

26001

26002

26003

26004

Right Option Id : 26003

Option Id

50001

50002

50003

50004

Right Option Id : 50002

Option Id

51001

51002

51003

51004



Question 52

What does EMD Stand for?
Answer :

(A) Earlier Money Debited

(B) Easy money deposit

(C) Earnest money deposit

(D) Earnest money debited

Right Answer :
Earnest money deposit

Question 53

Which category in VED analysis typically includes items that are costly but have low criticality ?

Answer :

(A) Variable

(B) Economical

(C) Desirable

(D) Durable

Right Answer :
Desirable

Question 54

Which of the following is a programming language?

Answer :

(A) HTML

(B) JPEG

(C) MP3

(D) GIF

Right Answer :
HTML

Question Id : 52

Question Id : 53

Question Id : 54

Right Option Id : 51004

Option Id

52001

52002

52003

52004

Right Option Id : 52003

Option Id

53001

53002

53003

53004

Right Option Id : 53003

Option Id

54001

54002

54003

54004



Question 55

What does USB stand for?
Answer :

(A) Universal Serial Bus

(B) Unified System Backup

(C) User System Bridge

(D) Unrestricted Storage Base

Right Answer :
Universal Serial Bus

Question 56

In the context of drug storage, what does 'expiry date' refer to?
Answer :

(A) Date of manufacturing

(B) Date of delivery

(C) Date of expiration

(D) Date of promotion

Right Answer :
Date of expiration

Question 57

EOQ stands for which of the following?
Answer :

(A) Early Out Quantity (EOQ)

(B) Economic Order Quantity (EOQ)

(C) Exit Out Quantity (EOQ)

(D) Economically Out Quantity (EOQ)

Right Answer :
Economic Order Quantity (EOQ)

Question Id : 55

Question Id : 56

Question Id : 57

Right Option Id : 54001

Option Id

55001

55002

55003

55004

Right Option Id : 55001

Option Id

56001

56002

56003

56004

Right Option Id : 56003

Option Id

57001

57002

57003

57004



Question 58

How should controlled substances be stored in a drug house?
Answer :

(A) Mixed with other drugs

(B) Separately, in a secure area

(C) Only during working hours

(D) Without any specific guidelines

Right Answer :
Separately, in a secure area

Question 59

What is the purpose of barcoding in drug inventory management?
Answer :

(A) Price tagging

(B) Theft prevention

(C) Streamlining checkouts

(D) Efficient tracking

Right Answer :
Efficient tracking

Question 60

How can an Assistant Store Keeper prevent theft in a drug house?
Answer :

(A) Share security codes with all employees

(B) Conduct random inventory checks

(C) Ignore security measures

(D) Store valuable drugs openly

Right Answer :
Conduct random inventory checks

Question Id : 58

Question Id : 59

Question Id : 60

Right Option Id : 57002

Option Id

58001

58002

58003

58004

Right Option Id : 58002

Option Id

59001

59002

59003

59004

Right Option Id : 59004

Option Id

60001

60002

60003

60004



Question 61

What is the antonym for “Anarchy"?

Answer :

(A) Confusion

(B) Chaos

(C) Harmony

(D) Disorder

Right Answer :

Harmony

Question 62

Past tense of the word “Mistake”?

Answer :

(A) Mistaken

(B) Mistakes

(C) Mistook

(D) Mistake

Right Answer :

Mistook

Question 63

Fill in the given sentence correctly: Smoking will never be given up,

Answer :

(A) so that

(B) as long as

(C) though

(D) as if

General English

Question Id : 70

Question Id : 69

Question Id : 66

the tobacco industry thrives

Right Option Id : 60002

Option Id

70001

70002

70003

70004

Right Option Id : 70003

Option Id

69001

69002

69003

69004

Right Option Id : 69003

Option Id

66001

66002

66003

66004



Right Answer :
as long as

Question 64

Question Id : 68

Which is the correct passive voice of the following sentence? You have painted the window

Answer :

(A) The window was painted

(B) The window has been painted by you

(C) The window is painted

(D) The window be painted

Right Answer :
The window has been painted by you

Question 65

Find out the grammatically wrong sentence
Answer :

(A) She takes her dog out for a walk

(B) He teaches in a school

(C) She go to the market for vegetables

(D) They live in Allahabad

Right Answer :
She go to the market for vegetables

Question 66

Choose the correct meaning for the following phrase ‘foot the bill’

Answer :

(A) to tear the bill

(B) to kick the bill

(C) to pay

(D) to throw the bill

Right Answer :
to pay

Question Id : 67

Question Id : 61

Right Option Id : 66002

Option Id

68001

68002

68003

68004

Right Option Id : 68002

Option Id

67001

67002

67003

67004

Right Option Id : 67003

Option Id

61001

61002

61003

61004



Right Option Id : 61003

Question 67

Question Id : 65
Read the following passage and answer the questions that follow:

Gandhi’s overall social and environmental philosophy is based on what human beings need rather than what they want. His early introduction to the teachings of Jains,
Theosophians, Christian sermons, Ruskin and Tolstoy and most significantly the Bhagavad Gita, was to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for the disadvantaged, the poor and rural population created an ambience for an
alternative social thinking that was at once farsighted, local and immediate. For Gandhi was acutely aware that the demands generated by the growing industrialization
of India, far outstripped the finite resources of nature. This might nowadays appear naive or commonplace, but such pronouncements were as rare as they were heretical
a century ago. Gandhi was also concerned about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for
keeping a community flourishing within ecologically- sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming Western
alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active non-violence, derived from the traditional moral restraint of not injuring another being. The
most refined expression of this value is in great epic Mahabharata, (c. 100 BCE to 200 CE), where moral development proceeds through placing constraints on the
liberties, desires and acquisitiveness endemic to human life. One's action is judged in terms of consequences and the impact it is likely to have on another. Jaina had
generalized this principle to include all sentient creatures and bio communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and
even bacteria. Non injury is a non-negotiable universal prescription.

Question : Which one of the following have a profound impact on the development of Gandhi’s holistic thinking on humanity, nature and their ecological interrelations?

Answer :
Option Id

(A) Jain teachings

65001
(B) Christian’s sermons

65002
(C) Bhagavad Gita

65003
(D) Ruskin and Tolstoy

65004

Right Answer :
Bhagavad Gita

Right Option Id : 65003

Question 68

Question Id : 64
Read the following passage and answer the questions that follow:

Gandhi’s overall social and environmental philosophy is based on what human beings need rather than what they want. His early introduction to the teachings of Jains,
Theosophians, Christian sermons, Ruskin and Tolstoy and most significantly the Bhagavad Gita, was to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for the disadvantaged, the poor and rural population created an ambience for an
alternative social thinking that was at once farsighted, local and immediate. For Gandhi was acutely aware that the demands generated by the growing industrialization
of India, far outstripped the finite resources of nature. This might nowadays appear naive or commonplace, but such pronouncements were as rare as they were heretical
a century ago. Gandhi was also concerned about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for
keeping a community flourishing within ecologically- sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming Western
alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active non-violence, derived from the traditional moral restraint of not injuring another being. The
most refined expression of this value is in great epic Mahabharata, (c. 100 BCE to 200 CE), where moral development proceeds through placing constraints on the
liberties, desires and acquisitiveness endemic to human life. One’s action is judged in terms of consequences and the impact it is likely to have on another. Jaina had
generalized this principle to include all sentient creatures and bio communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and
even bacteria. Non injury is a non-negotiable universal prescription.

Question : Gandhi’s overall social and environmental philosophy is based on human beings’”

Answer :
Option Id
(A) Need
64001
(B) Desire
64002
(C) Wealth

64003



(D) Welfare

64004

Right Answer :
Need
Right Option Id : 64001

Question 69

Question Id : 63
Read the following passage and answer the questions that follow:

Gandhi’s overall social and environmental philosophy is based on what human beings need rather than what they want. His early introduction to the teachings of Jains,
Theosophians, Christian sermons, Ruskin and Tolstoy and most significantly the Bhagavad Gita, was to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for the disadvantaged, the poor and rural population created an ambience for an
alternative social thinking that was at once farsighted, local and immediate. For Gandhi was acutely aware that the demands generated by the growing industrialization
of India, far outstripped the finite resources of nature. This might nowadays appear naive or commonplace, but such pronouncements were as rare as they were heretical
a century ago. Gandhi was also concerned about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for
keeping a community flourishing within ecologically- sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming Western
alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active non-violence, derived from the traditional moral restraint of not injuring another being. The
most refined expression of this value is in great epic Mahabharata, (c. 100 BCE to 200 CE), where moral development proceeds through placing constraints on the
liberties, desires and acquisitiveness endemic to human life. One's action is judged in terms of consequences and the impact it is likely to have on another. Jaina had
generalized this principle to include all sentient creatures and bio communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and
even bacteria. Non injury is a non-negotiable universal prescription.

Question : Colonial policy and modernization led to the destruction of:

Answer :
Option Id

(A) Major industrial infrastructure

63001
(B) Irrigation infrastructure

63002
(C) Urban infrastructure

63003
(D) Rural infrastructure

63004

Right Answer :
Rural infrastructure
Right Option Id : 63004

Question 70

Question Id : 62
Read the following passage and answer the questions that follow:

Gandhi’s overall social and environmental philosophy is based on what human beings need rather than what they want. His early introduction to the teachings of Jains,
Theosophians, Christian sermons, Ruskin and Tolstoy and most significantly the Bhagavad Gita, was to have profound impact on the development of Gandhi’s holistic
thinking on humanity, nature and their ecological interrelation. His deep concern for the disadvantaged, the poor and rural population created an ambience for an
alternative social thinking that was at once farsighted, local and immediate. For Gandhi was acutely aware that the demands generated by the growing industrialization
of India, far outstripped the finite resources of nature. This might nowadays appear naive or commonplace, but such pronouncements were as rare as they were heretical
a century ago. Gandhi was also concerned about the destruction, under colonial and modernist designs, of the existing infrastructures which had more potential for
keeping a community flourishing within ecologically- sensitive traditional patterns of subsistence, especially in the rural areas, than did the incoming Western
alternatives based on nature-blind technology and the enslavement of human spirit and energies.

Perhaps the moral principle for which Gandhi is best known is that of active non-violence, derived from the traditional moral restraint of not injuring another being. The
most refined expression of this value is in great epic Mahabharata, (c. 100 BCE to 200 CE), where moral development proceeds through placing constraints on the
liberties, desires and acquisitiveness endemic to human life. One's action is judged in terms of consequences and the impact it is likely to have on another. Jaina had
generalized this principle to include all sentient creatures and bio communities alike. Advanced Jaina monks and nuns will sweep their path to avoid harming insects and
even bacteria. Non injury is a non-negotiable universal prescription.

Question : Gandhi’s active non-violence is derived from:
Answer :
Option Id

(A) Moral restraint of injuring another being
62001

(B) Having liberties, desires and acquisitiveness



62002
(C) Freedom of action

62003
(D) Nature-blind technology and enslavement of human spirits and energies

62004

Right Answer :
Moral restraint of injuring another being

Right Option Id : 62001

General Knowledge

Question 71

Question Id : 80
The ozone layer in the Earth’s atmosphere is limited to the following areas:

Answer :
Option Id
(A) Troposphere
80001
(B) Stratosphere
80002
(C) Mesosphere
80003
(D) Thermosphere
80004
Right Answer :
Stratosphere
Right Option Id : 80002
Question 72
Question Id : 77
The father of Indian missile technology is ?
Answer :
Option Id
(A) Dr. Homi Bhabha
77001
(B) Dr. Chidambaram
77002
(C) Dr. U. R. Rao
77003
(D) Dr. A P J Abdul Kalam
77004

Right Answer :
Dr. A P J Abdul Kalam

Right Option Id : 77004

Question 73
Question Id : 79
World Environment Day is celebrated on ____?
Answer :
Option Id

(A) 2nd June

79001



(B) 15th June

79002
(C) 5th June

79003
(D) 10th June

79004

Right Answer :
5th June
Right Option Id : 79003

Question 74

Question Id : 78
On which date is Vishwa Hindi Diwas celebrated?

Answer :
Option Id

(A) January 10th

78001
(B) February 15th

78002
(C) March 10th

78003
(D) April 15th

78004

Right Answer :
January 10th
Right Option Id : 78001

Question 75

Question Id : 76
Saffron is exclusively produced in one state in India

Answer :
Option Id

(A) Assam

76001
(B) Himachal Pradesh

76002
(C) Jammu and Kashmir

76003
(D) Meghalaya

76004

Right Answer :
Jammu and Kashmir

Right Option Id : 76003

Question 76

Question Id : 71
Among the following Union Territories of India, which one has the largest size ?

Answer :
Option Id
(A) Ladakh

71001



(B) Puducherry

71002
(C) Lakshadweep

71003
(D) Chandigarh

71004

Right Answer :
Ladakh
Right Option Id : 71001

Question 77

Question Id : 75
Where is the National Sugar Research Institute situated ?

Answer :
Option Id
(A) Varanasi
75001
(B) Meerut
75002
(C) Moradabad
75003
(D) Kanpur
75004
Right Answer :
Kanpur
Right Option Id : 75004
Question 78

Question Id : 74
Chandrayaan-3 has been launched from which of the following centres ?

Answer :
Option Id

(A) Vikram Sarabhai Space Centre

74001
(B) Satish Dhawan Space Centre

74002
(C) ISRO

74003
(D) Dr. Abdul Kalam Island

74004

Right Answer :
Satish Dhawan Space Centre

Right Option Id : 74002

Question 79
Question Id : 73
What is the name of the trust responsible for the construction of the Ayodhya Ram Mandir?
Answer :
Option Id
(A) Ram Janmabhoomi Nyas

73001

(B) Ayodhya Mandir Trust



(C) Ram Seva Samiti

(D) Shri Ram Foundation

Right Answer :
Ram Janmabhoomi Nyas

Question 80

Who was the Governor of Uttar Pradesh state in the year 2023
Answer :

(A) Ram Naik

(B) Anandiben Patel

(C) Suraj Bhan

(D) Vishnu Kant Shastri

Right Answer :
Anandiben Patel

Question 81

Complete the series 34,45,56,67......7
Answer :

(A) 78

(B) 89

(C) 87

(D) 35

Right Answer :
78

Question 82

Complete the series 4,8,10,14,16,20,?
Answer :

(A) 22

Question Id : 72

Reasoning

Question Id : 90

Question Id : 89

73002

73003

73004

Right Option Id : 73001

Option Id

72001

72002

72003

72004

Right Option Id : 72002

Option Id

90001

90002

90003

90004

Right Option Id : 90001

Option Id



89001

(B) 24
89002
(C) 34
89003
(D) 18
89004
Right Answer :
22
Plalla Anat .. 1. ONNANA
Question 83
Question Id : 88
In a certain code PAPER is written as QPARE then how is TABLE written in that code?
Answer :
Option Id
(A) UBALE
88001
(B) UBCMF
88002
(C) UZKAD
88003
(D) UBAEL
88004

Right Answer :
UBAEL

Right Option Id : 88004

Question 84

Question Id : 87
Chose the correct option to complete the series given PP QP QR ..........

Answer :
Option Id

(APT

87001
(B) PQ

87002
(CPQRS

87003
(D)PQB

87004

Right Answer :
PQRS
Right Option Id : 87003

Question 85

Question Id : 86
In a row of persons, the position of Sakshi from the left side of the row is 26th and position of Sakshi from the right side of the row is 35th . Find the total number of
students in the row .
Answer :
Option Id
(A) 67



86001

(B) 61

86002
(C) 46

86003
(D) 60

86004
Right Answer :
60

Right Option Id : 86004

Question 86

Question Id : 85
Which word does not belong to others ?

Answer :
Option Id
(A) Writer
85001
(B) Editor
85002
(C) Reader
85003
(D) Reporter
85004
Right Answer :
Reader
Right Option Id : 85003
Question 87

Question Id : 84
Based on the alphanumeric series given below, answer the following question
DR73NH*A4NJ#5N%U5MP+2DTS$E3KR®@2
How many numbers are preceded by symbols ?

Answer :
Option Id
(A) 2
84001
(B) 3
84002
(ON
84003
(D) 4
84004
Right Answer :
3
Right Option Id : 84002
Question 88

Question Id : 83
If in a code language TERRIFIC is coded as SEQRHFHC then what is the code for AMAZING?
Answer :

Option Id



(A) ALAYIMG

83001
(B) BNBAJOH

83002
(C) ZMZZHNF

83003
(D) ZLZYHMF

83004
Right Answer :
ZMZZHNF

Right Option Id : 83003

Question 89

Question Id : 82

There are six persons A, B, C,D,E,F in a joint family. C is the sister of F. B is the brother of E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Who is the mother?

Answer :
Option Id
(A) A
82001
(B)B
82002
(@)e
82003
(D) E
82004
Right Answer :
E
Right Option Id : 82004
Question 90

Question Id : 81
Find the missing number.

36:50:::64: ?
Answer :
Option Id
(A) 14
81001
(B) 78
81002
(C) 81
81003
(D) 82
81004
Right Answer :
82
Right Option Id : 81004
Mathematical Aptitude
Question 91

Question Id : 99



What is the additive inverse of -2/3?

Answer :
Option Id
(A) 2/3
99001
(B) 3/2
99002
(C) -3/2
99003
(D) -6/8
99004
Right Answer :
2/3
Right Option Id : 99001
Question 92

Question Id : 98
Find the value of X in this equation: 6x-9-2(1+x) = x-9?

Answer :
Option Id
(A) 3/2
98001
(B) 2/3
98002
(C) 3/5
98003
(D) 5/6
98004
Right Answer :
2/3
Right Option Id : 98002
Question 93

Question Id : 97
Adjacent sides of a rectangle are in the ration 5:12, if the perimeter of the rectangle is 34cm, find the length of the diagonal.

Answer :
Option Id
(A) 13cm
97001
(B) Mcm
97002
(C) 9cm
97003
(D) 7cm
97004
Right Answer :
13cm
Right Option Id : 97001
Question 94

Question Id : 96
Which of the following has a fixed length ?



Answer :

Option Id

(A) A line segment i

96001
(B) A line

96002
(C) A ray

96003
(D) A point

96004
Right Answer :

A line segment
Right Option Id : 96001

Question 95
Question Id : 91
If 72% of 25 students like maths, find out the number of students who do not like mathematics?

Answer :
Option Id
(A) 18
91001
(B) 16
91002
9
91003
(D)7
91004
Right Answer :
7
Right Option Id : 91004
Question 96

Question Id : 94
Subtract 3xy+5yz-7zx from 5xy-2yz-2zx+10xyz

Answer :
Option Id

(A) 4xy-5yz-5zx-10xyz

94001
(B) 2xy+5yz-4zx-7xyz

94002
(C) 2xy-7yz+5zx+10xyz

94003
(D) 4xy-5yz-7zx+10xyz

94004

Right Answer :
2xy-7yz+5zx+10xyz
Right Option Id : 94003

Question 97
Question Id : 93
What is the solution of the system of equations 2x-y=1and x+y=5



Answer :

Option Id
(A) x=2, y=3
93001
(B) x=3, y=2
93002
(C) x=1,y=4
93003
(D) x=4, y=1
93004
Right Answer :
x=2, y=3
Right Option Id : 93001
Question 98

Question Id : 92
State the lines of symmetry for Rhombus

Answer :
Option Id
(A)1
92001
(B) 2
92002
3
92003
(D) 4
92004
Right Answer :
2
Right Option Id : 92002
Question 99

Question Id : 95
The measure of the complement of the angle 40° is:

Answer :
Option Id

(A) 15°

95001
(B) 40°

95002
(C) 50°

95003
(D) 140°

95004
Right Answer :
50°

Right Option Id : 95003

Question 100
Question Id : 100
How many faces does a cuboid have?



Answer :

(A) 2

(B) 4

3

(D)6

Right Answer :

6

Option Id

100001

100002

100003

100004

Right Option Id : 100004



